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Slope General Form Intercepts
.. 14
a) -3 —3x—y+14=0 ¥—mt
y—int: 14
b) 1 x—3y—-6=0 x—int: 6
3 y—int: —2
c) 0 yv—1=0 y—int: 1
. 17
5 X—mt ——
d) 3 —5x—3y—17=0 17
y—int: ——
3
e) Undefined x—2=0 x—int: 2
. 11
3 x — int: Yy
f} Y —3’.1'—2_1'—].1=0 11
- y — int: -

General Form

Symmetric Form

Slope & Intercepts

3 —x—2y+6=0 x y 1
2 Xxoayd SR Slope: ——
6 3 2
y—it: 3
x—int: 6
b) 2x—10y-14=0 x S_v_l Slope: 0.2
7 7 y—int: -1.4
x—mt: 7
c 2x—-3y+8=0 - 3y 2
2 e NN AR Slope: =
4 8 3
. 8
y—int: —
’ 3
x—int: —4
d) —4x—10y—-1=0 x y Slope: —0.4
=1
1 1 . 1
—_— —— y—int: ——
4 10 10
. 1
x—imt: ——
4
e -x_+3y+6=0 x y 1
) t_rad T X Slope: —
6 2 3
y—int: —2
x—int: 6
f) Ax+2y—4=0 x oy Slope: -2
—+=—=1 '— it 2
2 4 y—mt: -
x—int: 4
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3x—y—28=0
x—6=0
x—y=0
y—6=0

Standard General Symmetric
a) y=8x-3 8x—y-3=0 8x Y_1
3 3
b) y=—2x+29 —2x—y+29=0 2x+3x_1
20 29
c) ve2ia 2x—5y-20=0 x y_
10 4
d) y=2x+6 2x—y+6=0 X ¥y
) —+=—=1
3 6
e) y=4x-8 Ax—y-8=0 x y_l
2 8
f) y=—x-3 —x—y—3=0 Y y_l
3 3

b)
c)
d)

Lines 2 & 4
Lines 1 & 3
Lines4 & 5

Line 2




Slope = -3 y — intercept = (0, 6)

b)

6

Using A(3, 5) & (0, 6), a:—:—%

0-

Tofindk, letx=5

1
=——(9)+6
y=-30)
5
=——+6
d 3
,__5,18
3 3

w | o1

X — intercept = (2, 0)

1
SO y=——X+6
Y 3



d)

Using (2, 0) & A(3, 5),

Letx=5

y=k=15

Using (1, 3) & A(3, 5),

Letx=5

y:k:7

=1

so y=5x-10

SO y=X+2
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3. a) ) AC: 0-=:;_ 2 AD: @ Alo,0)
B
D (3, 30)

De: o=Ya Dcra= -3 E (eql..‘gx

4324,) A,Q,erpu ONg r\g.joJ:.UQ- Muion&co.ﬁo
c) &= d 36* +g—tzF = r440° = 3%. 5
d(‘D,E)'-'- (8% 4 S4* = \aae = 56.92
AWUL = Uiguo - Jz248 = 2o =
T Y

A) ”D—E, : o e Xz 2D j=30
20= -3(%) tb

3= —-90 +b
d

)  x=20 Y= ~3(20) t+ (20
7-— - 0 +i120
>| = 0
£) s ~3x +b x = 81 y=4%
4§ - -3(s4) +b
8= -252 +b
300 =b = j-—: -3x + 300
B: 0= -3x +300
=300 = "a%

(cO =% Bl00) - @



